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Language Option - English

Fill in the blank with the appropriate alternative
Everything was very expensive. We did not

anyvthing?

A, Sell B. Purchase C. Parchase D. none of the above ey
| 2 Fill in the blank with the appropriate alternative
I can not find my pen. Can vou find it for _ =
Al B. me C. you D. mine i
3. | Fill in the blank with the appropriate alternative
Toys were lying the room.
A. About B. What Cln B Tm
| 4. | Fillin the blank with the appropriate alternative
The bus was full passengers.
A. In B. Al C. Of D. About
5. | Fillin the blank with the appropriate alternative
Car is generally in size than the truck. .
A. Larger B. Bigger C. Smaller D, Big
6. | Find the correctly spelt word 7
A. Acelerator B. exicilirator (. Axcelarator D. Acgelerator
7. | Find the correctly spelt word ?
A. License B. Lisense C. Lesense D. Lecense
8. | Find the correctly spelt word ?
A. temparment B. tempramnel C. temprament D. tmeprament .
9. | Which altenative is the Synonym of the word ‘Sudden’ :
A. delayed B. preponed C. automatic D. unexpected
10. | Which altenative is the Synonym of the word ‘interpretation’ :
A.Analysis. B. differentiate  C. afterwards D. unknown
11. | Find out the error in following sentence :-
The capital of Yemen /is sltuaung:' 2190 meters above/ the sea level ?
A. The capital of Yemen B. is situating C. 2190 meters above D. the sea level
12. | Fill in the blank with the appropriate alternative
Always obey rules. ,
A. Trefic B. Trafic C. Traffic D. None of the these
13, Enﬂ_mammmigumm
I will give yow an award if you / do your work /with satisfactory _
A. 1 will give you B. an award if you C. do your work D. with satisfactory
14. _Fﬁl in the blank with the appropriate alternatives
Do'not your vechicle on the road.
‘A. Pare B. Park C. Prac D. None of the these. e
15. | Which altenative is the Antcnym of the word M
A. Wonderful B. Graceful Ughr D. Handsome: -
16. | Which altenative is. thaAntonym of the word ‘S;m _
|| A. unsincere B.ingincere ~ C. nommwe _ D. dissincere —
17 Whlch alw:atm is ﬂmhntpnym of the word ‘Cr_l minal’ ; '
1) ' ~__ B.lawhl C. respectful D. Grateful
" "Which altenative is the Synonym of the word. “Defer’ :
L) A{Indlffm B. defy C. Differ D, Postpone
19, | When it rains in small drops it is called?
__| A. drizzle B. drizle C. dirzzle D, drizzle
2. ﬁadimwhiehmsbymmismued? = " |
| A Incurgble - B.Injectious C. Contagious D. Fatal
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31. | Fill in the blank with the appropriate alternative
I saw a of Sheeps in the field? T
| A, Group B, Flock C. Swarm ~_D.Class —
2. | Fill in the blank with the appropriate alternative
lhadtoapply  asthechild was crossing the road :
| “A. Brakes B. Breaks C. Bracks ~__ D. None of the these
3. | Fill in the blank with the appropriate alternatives
One of the teachers ~_ nextdoor to my uncle
A. live B. lives  Belesy N. swy o
24, | What is meant by “Give up”
| A. Begin B. rise C. settle D. leave
25. | Fill in the blank with the appropriate alternative
Always check tyre  before starting i journey.
A. Presure B. Prussure C. Pressure D. None of the these |
a7 fAmed iR Ik
1| T aga @ aaE e — =i = = |
I A. Feau B, ar=mm C. a=rerm ). aF®l
U7 |t # @ el aedaes 6 & 9w 1 |
A Fr—ay B,wiemw  C. T6-9Y I O i
<3 | W @ o @ o ? |
| A. qFE —FAl B. 4% C. efd D, T
¥4 | SN w4 GBS ©
! A. Hdg B., s C. wd3 D. s '
A5 “Hyt eEA @ sl B
|| AsEE B B. F@aE & C. o & S D. fw & g0
46 i w1 G e T 8
A. @ B.ae C.f D.zfe
A1 | e ifdR 8 = @] dig
A TS B.am@ C.aa D.wa® 4
‘ﬁ Sqqui” T SAErE e 8 - '
A B B .frfre C.ad D .&er
[ | ” o et e @y
A .giiva B . & 54 C. e & D .
3 10 | “re” & frei = &
| A3 B.@ C.9g D. 3wt
11| 5& 9198 1 =g Do |
Amasiaat B.awIssdad
C.agwsaadgt Dugems admad
1127 [ R woicht e et wr ol 3 2
A. e w Ve e B Wi @ e
13 | e o st e # 7
| AcERRR B. 87 __C.wEd D. |
14 ﬁiﬂﬂmﬁmﬁ:ﬁﬁfad?ﬁnﬂtt? Y
| c" W ;-.Du' ?ﬁ
P T Waﬂmﬁmﬁ |
| A. = e B B, a5 W &= C. formrai wv e D, fra w5
17 smeg” 1 e 7 B
A g B .= C.amd! D.uyd § 4 mid T8

‘Booklet Code “D” Page
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e — ]
I8 | *aem » ¥ wmaras ©sn OB s
! A . Wiolmdgs] B. I=ms . gmg=l D.a=g99
19 | ) " w= 7 qhewT w9 & = ¥
LA, T B. %3 C. 3w D. & |
o0 | W e g -
ﬂmmﬁﬁquﬁ\ﬁﬁfﬁmﬁ}#*ﬂﬂﬂmmﬁ l
| A. s B. afriw C. afdw D. sifis
21 | Pt A W OIE e & 99 BT \
1 A. WY B. wigef C. wgu D. a=jo ,
22 | f=F s & anf? o) s & 7 l
A. He B. & C. wigd D. s
5~ | A B e Wn-awe § - 1
. AR = B. & 4 C. 71 3T D. SR F | ®g T |
-~ (24, W L] W (avand @l 8- , '
A. mr B. sfm C .t  D. sftaw |
[T [ o oim e B ‘
A. Ao B. fawe C.ufre D.v&e :
%6, | Find the odd word from the given alternatives: 26 | Fretenam et 79 e Rew B
A. Potato B. Tomato A. 3TE, 5 THIEY
i C. Carrot D. Radish C. T D. &
37| From the alteraatives given below which aliemato [_27 | A &1 70 et 3 e (% e e
does not belong to the group? waw TH 2
A. Today B. Tomorrow A. @ B. & ane
C. Sunday D. Yesterday C. 3w D. fiwan wa
-1 [28. | Who is the Railway minister of India 1 28 | @ & @ = @ €
A. Suresh Prabhu  B. Sushma Swaraj A. X Wy BR¥H1 R
4 C. Rajnath Singh _D. Narendra Modi C. wrarirer 7 DA Hd
9. | Lubrication of all moving parts is essential to 29 | e ard qoi 8 dw o @ snaeadear et g §—
A. Increase friction A, wiv ward @
1 B Reduce friction B werd % R
C. Increase speed C. 9 wgr o g
- D. None of the above Do § 8 o8 T8
30. | Which of the following reduces tyre life V30 | 51 § 1 Tax A SR W wewn 8-
- A, High speed G
B. Running the tyres with under inflation: Bz wr oW g # e
| C.Both A & B C. 3 ASB.
D. None of the above D.gaiemy 4 % v =t
3. Whtqh type of water is used in electrolyte? 3] | e TR &1 U Rolagiege A WA vy iy #
A. Ordinary water B, Distilled water A FTEIY] e B3 ore
| || . Coolant D. None of the above C D, A 2 T @
32. | PV Sindhu is associated with which sports. 32 | 0 4 P o o (g 2a W 8
A. Hockey 'B. Badminton A. st B. fafitesy
- . C, Football C.Lawn tennis C.! D. & 2
33, | Which is the larg;astsugmmc producer country | 33 ﬂw T GART TS GWaT oW o B
iuﬂwwadd . A. wrofie B .
| C. = D. s
~ 34 | Prer s % soren ECE S ——
49371314407 s
- A 12 B, 13 —
.'. C. 14 D11 A
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, T .. L 1
\I_-I: i 1 1 | A wE1TEH ENCES {
- ) 5 LL R _ DRwh
\ hic i . elow | 36 | :-'-:-.-_r";:-;:;'. 3@ o e e T W o =
| gy we o a £
. e Dop: A KGH B#
A Hax El Bray C. g D=
B D. Grunt o _ — | .
-'!._L-';-.:!L' Try I w "'-‘—f'HTTl the gl‘--_f.h" ;1;?._1:;11\,-,3,-_; ib_ﬁ—-"ﬁfﬂmﬁ—ﬁmi # 9 A= fawsa Bl 0,
A Inelia B. Srilanks AL FIXT B. i@ |
| C. France [, Japan | C. wid D, B
Select the word tha cannat be formed by using | 38 | 9% w= 1 97 71 ot “INCONSISTENCE"
the aiphabets of the word “INCONSISTENCE" % v o SEG w1 owan aed F8 T 9 s
A. SUN B. NOSE A.SUN B. NOSE | —
__| C.SON D. COIN ! C.SON = D. ;Uﬁm@ e —
9. | How mﬂm numbers are there between [1and 91 | 39 | 19 ¥ a1 ‘:‘ﬁﬁh‘u‘r"- Ll % f o E W 2R

%' | which are divisible by 2 and the total of two frmfor B #1 3% 2 oF6! 1 A 6 WY —~

ol | digits is 6 1 E A3 B. 2 -
ot A B.2 4 €. 1 D. 3 A T |
t i % : D. More than 3 o _
"Z0 | Madhubani, & style of paintings, is popular in | 40 | TET frame 21 ok, ARG & fod W H Iwia

which of the following state of India? &2 3

| A. Uttar Pradesh B. Rajasthan A. ST URW B. woram

C. Madhya Pradesh _D. Bihar C. ey D. fasr \
1T | When was the constitution of India was adopted |-4F | WX T FawH Saaii4s $ACH B F SR T

f by Constituzent assembly ? aqr ? _

A 25" Oct, 1948 B. 25" Oct, 1949 A25 o, 1948 B. 25 s, 1949 7
| €.26*Nov, 1948 D. 26" Nov, 1949 C.267wR. 1948 D.26 7w, 1949 |
42 | Whas should you do if an ambulance or fire |42 AR G a1 S A wen) gEl 4 A

service vehicle approaches your vehicle from TR AR T @ G an 78 & s

behind with Siren on or lights flashing ? &l e ;

B. Slowdown and activate your emergency lights B. %ﬁ%’u‘ ;ﬂvﬂm : Wb o

C. Give way as soon as possible CUEY 0 By o oo |

D. Aceelerate your vehicle. s k1] |
43, | IT you see a pedestrian waiting at a crossing |\ 43 i &M OB GaW A 1 Um WHET 99 gahe S

shead, what should you do? BY 2@ # o s @ wen Wiy

'A. Slow down and wave them across g« WWTE;? ::;f: g :r:“:ﬁ " o

_ﬁmﬂ.:mlﬁmmﬂwﬂl for them to gﬁ Lk sadielish iy m‘;‘ﬂmﬂ :

L i i i [ )

Cimtmopenmatramott | |Sermsiomit |
44, | Cautionary traffic sign is of what shape A4 | WU U wad 3 AR ST B

\. Circular B. Square A, gaTeTR B. anfeR

C Triangular D. Rectangular C. Proir D, ABAER
45. | What is the capital of Sikkim? AS | iww ot Y @ § |

A, Kolkata ‘B, Guwahati A. e B. "

C k 'D. Kohima C. e D, s
46. \\mﬂmm{imhiﬁﬁ&? | AG | em A e R A Wi R

A Gangs B. Godswari A. 7 3

C. Brahmaputra  D. Narmada C. wongE D. e
47 | Which of the following is the hardest substance | 47 | 7ol 0 ¥} wewr wand overer @y a1 &

available on Earth is 7 !

A. Cold B. Iron A. ¥ B. @y

| C. Diamond D. Platinum C & D.=f2ws
Hooklet Code “D"
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'8 | When was the Battle of Plassey was fought? | 487 el B Sae ma wal ME o
A 1757 B. 1782 | AL 1757 B. 1782
C. 1748 D. 1764 C. 1748 D. 1764 ,
19, | The Book “Discovery of India ™ was written by | 19 | ®N0 U6 @GR e foradt & '
A. Mahatma Gandhi A, o T
B. Pandit Jawshar Lal Nehru 0. gfEs TR g S8
C. Sardar Patel . HYER Yo
b D. Lal Bahadur Shastri [, e werey e
50. | In India the first rail line was constructed between | ,567| = & e YA T @1 A (e A ® ave g
A. Hawrah and Srirampur ol
B. Bombay and Thane A. BIE Y AR
] C. Madras and Guntor B. wag afty g
D. Delhi and Agra C. Tare AR TR |
L. = e D, fecht 3w apma il
51. | Mutiny of 1857 started form 51 | 1857 w1 faers wE § WRST g el ‘
- A. Dethi B. Jhansi A. foeeh B.5i7#
| C. Merrut D. Barrackpore C. AT D.2¥rgE '.
52. | From the alternatives given below select the 52 P oan Awen 4 @ 99 fAwal & e ) \
alternative that continues the given series. sj@e A TR 8 BT
ABZ, CDY, EFX, GHW, ? ABZ, CDY, EFX, GHW, ? i) ‘
- AL IKP B.ILO A, IKP B.JLO |
C. v D. ILP C. UV D.ILP j
53. | From the alternatives given below select the 33 foq ¢ Mmcdl # W 99 [q@mes w1 T T Al
alternative that continues the given series. T T !
. 13, 26, 39, 52,65, ? 13,26, 39,52, 65,7 C;15
A.73 B.63 A T3 B. 63 Pl
C.78 D. 74 C.78 D. 74
54. | 14 is related to 36 in the same way as 9 is related | SA7 | 147 w:m 56 ¥ & I WA 9 W T
| o : #
] A.36 B. 46 A.36 B. 46 b A —
C.26 D, 26 C.26 D. 26
55, | A told B, “The Girl I met yesterday was the 55 | A = B =1 s, Rrw de® A A we e @ @
youngest daughter of the brother-in-law of my 4 Al # FaN B wea el t‘l e A
mother”, How is the girl related to A 7 BE &) w2 5 39—
A. Niece B. Cousin Ao A et B.w4& weA W
_| __| C.Friend D. Daughter bl C.fm D.A#
56, | 15% of 260 —32% of 125 =7 567 260 w1 15 wftver — 12537 22 wRwH = ?
| AL 100 B. 200 A. 100 B. 200
I'C, 125 D. None of the above C. 125 D. Igia # 5w
ST IW?m:l is the value of Cif C3=1 57 |[sRC3=18AComamnd? a-3=)
|A.3 B. 2 A3 | B'2 Y-72
T C.4 D.-2 C.4 =
-| 58, | If Ram drives a.J at the speed of 50 Km/h, |Gl | ST Y@ mmnﬁﬁmiﬁ R
' 'ﬂmhdim?ﬂlhemﬂmilhm? war § 7t ag ar wer s AR gl T, o
B. 200 Km A, lﬁﬂﬁFﬂ B. 200 & »F
4 'g'mll. D.210 Km iy T‘BOM D 210 fwlr
a certain code cmss is coded a5 s:w.c. ar Ty @ % CLASS 1 SSALC feray o & 4t
will SCHOO ) code aﬁmﬁﬁmwmﬂmﬁamm
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‘A, Fork B. Knife —— = | (| A B, 9
I- C. Spoon D. Plate C, = D, @ 1
62, | Where were the 2010 Commonwealth games 62 | 2010 WS W e w1 ol T J
| held. _ :
A. Canada B. Australia A ST %-ﬂ;f&mimt 16, \
C. India D, Malaysia , o i G i . :
63| Who is called “Iron Man” of India gy | el g LR R
A. Bhagat Singh A, v e
B. Sardar Ballabh Bhai Patel B FVAI WeorH W T e
C. Govind Ballabh Pant ¢ i Tewm A
D. Subash Chandra Bose Dy G ¥ @ )
| 64. | World's Highest water full is B4 | T W e et s o 30 R 7%,
A. Boyoma B. Stenly A. wra B, Wl 4
C. Angel D. Niagara C. sft D1 |
65 Nosmslly commanwealth e aroReld atan |57 | TR, WEmea e [t ol HE TN
interval of arrafsres g o
A. 3 vears B. 4 years | A, 3 a B,4 7
C. § years D. 6 years ;’ﬁq;a;ﬁﬁm#' Dleﬂ‘:‘f‘lﬁmt
66. | Which of the following is used in pencil LI (P A 1 R0,
A.Graphite  B. Silicon %% A drE - B fafeata
C. Charcoal D. Phosphorous C.armIe DB
67. | Which is the purest form of water 67 | o w1 yEee &y e w8 81,
A.Tap Water  B. Rain water A. 7 F1 T B mat %1 e
C. Sea water D. None of the above C. wgr Wl WS D. wdr # @ @ A
68. | Which is not constituent of an atom 68 | T A i s A A6 8
A. Electron B. Proton A. FAEH -B.AreH -
C. Neutron D Photon. C. =gH D )
66T I an amount of Rs 6,000.00 was taken as loan (@ [ 69" | U1 W93 §000.00 B & WY Fu fom 12 wivw
12% for three years. What would be the total &7 7T & Ry T ) S qw W A
interest an that A.Rs 3160 B, Rs2160 83
A.Rs 3160 B. Rs 2160 C. Rs 3060 D. Rs 3360
- C. Rs 3060 D, Rs 3360
70, | If & Car tyre gets wom out after muilmg I ST UF T T MY :
10,000Kms. Then after how many Kms will 4 | mmtlmmﬁmwmw&n‘rw
t}mgﬂwﬂmnuﬂfnolymmuﬂonmdane mmm*mﬁﬂﬁlﬁﬂt
A. 20,000 Km . 15,000 Km A. 20,000 sy B, 15,000 fissh 8
. 10,000 Km n 14,000 Km C. 10,000 &= D. 14,000 fa=h
3/ 71. | Ram completes a work in 20 days and Rahim | “f | o (e s @t 20 fe o xur avay & afR i 3
T mmplﬂmthcsmcwmkm%dzﬁ[ththnf wrd T 30 fe A ween & (4R I e Piaey ©
them work together, in how many days the work mrd X o 4 e fe R A qu v
will be completed \ A. 127 B. 14 T
AL 12 days B.l4deys oo N 3e C. 16 P& D. 10
|| C.16days D, 10 days _
1&_‘12. A student reaches soh;ml in 45 minutes with the | 72 | v fomdf s frerer o Rl wfty w2 9 wfa 91 4
speed of 6 kms per hour, What is the distance of famre & wimr ¢ | Romon M T R
the school? 2% @fﬁb A. 4 ffo B. 4,5 frfio g
A, 4 Km B. 4.5 Km H-E'; L C. 5 f&o D. 3.5 fasio
C. 5 Km D.3.5Km
73. | A car covers 2500 mirs in 2 minutes. What isits | 73 Wﬁniﬂﬂﬁmﬁaﬂﬁzﬁwﬂmﬁhﬁs
speed in kim per hour? 2 R & iy fdt ufy w2 & = @l
A. 90 B. 80, GLOW T A. 90 B. 80
C.75 D. 60 C:5 D. 60 E
T4, | The average of the first 7 positive even numbers is | 4T 786l 7 wrifemar v sroumy o1 s 6- i
A.TS B8 A 7.5 " B.8 |
e el “children S D] 1
[75. | The sum of ages of five . ‘hom at the [ 347 | Uiy v=1 @) 9w @1 o 50§ : g
in:mdué:d:?;uchmiumwmisme? ﬂﬂaﬂhmﬂ%ﬁméﬁﬂ-%h
et
-H** LA PR b Al Page
te '””‘1 e 5;‘-" IS W] R MA B
aieOTN "o Li-"’ h_._...ﬁ(b e — il L

"
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\ 1 ke L xS / 'L,.f '
o S\ RN, W i - ey s (2
age of the youngest child B e\ r___'_‘]h__ T e . _
A. 4 years B. 8 years %0 % :"’5“ + S I %
C 1[] ‘-C&]“b D Ij YEArs & TF {k. H}?ﬁl D. 12 o .:
76. | At present, the ratio between ages of Arun ':nd 76 | W A e AR e A 9% W Ad & SO 43 | f:
| Dipak is 4:3. Afler 6 years, Arun's age will be 26 k16 af wg awT 1 wH 28 WA g e w4 | =
‘iﬂﬁJ’S What is the age of Dipak at present. r' o S {aE T 99 T & Y b " 2
12 B. 15 s et V1 A..l12 B.15 aqanS Wy} 3
C‘ 19 D. 21 e ﬂ.-‘." "'J’:-; | C. 19 D. 21 ey
7| Find the odd one out from {U 1 721 N | 37| 5 % fre e o 3,5,11,14,17,21 u,w} ¢
A. 21 SRy A. 21 B.17
C. 14 D. 3 13Y C. 14 D.3 I
| 78. | What is ratio between 100 cm & I0mtr 1= 78] 100 FoA0 G4 10 HeX & 4 S aeni- U
A.1:10 B. 1:100 49 A, 1:10 B. 1:100 ¢
N D. 2:10 C. L:11 D. 2:10 ~
79. | A train running at a speed of 60 Km/hour crosses | 79 | 60 Tl /o1 21 woe & &1t W1 0 71 9 WS A
apole in 9 Seconds. What is length of the train ? | TF e w o w8 ¢ o aard e R
A, 120 mtr, B. 180 mtr. 1t = s A.120 Hew B. 180 #Hiev
C. 324 mir. D. 150 mtr. L C. 324 #re [}.uu Aret -
80. | Find the value of V144 7 e B0 V144 =1 T @ & 2 L A P
A. 12 B.18 Z8eewo  axé \ A 12 B.18. &
C. 24. D. 15 25 C. 24, D. 15
81. [ A vendor bought toffees at the rate of 6 for a | 81 v f@ar T d 6 ciel @A §) 20 Wi
rupee. How many toffees for a rupee must he sell R fog @@ 1 w9T A
to gain 20% profit 7 a:,l \“.lb L, | Fe e \
A 3 B4 ¢ A. 3 B.4 y
C.5 D.6 b* h"’* é?l/ S D.6 ‘f‘y
82. | What is the yalue of 3(2+1) \,f \'ga N (VB2 3@ w & 7 Y3 g,
AL 10 BaLYINS - 7 A 10 B. 11 e
C. 9 D. 12 ¥/ Nt C. 9 D. 12 6
83. | In first ten overs of a cricket game, the run fafe | 83 | [b®c # UEA &H 3NAR A 1 Y€ A 3.2 1) 282 T
was only 3.2. What should be run rate in the | _ | ® @ % gu3 % fY 4 40 3t 7 Py =3 9
remaining 40 overs to reach the target of 282 ¥ ¥ W A (@K b e
runs? W 6o ﬂo Yy ~ A .ﬁ_.l_’i_ B.6.5 . e
A. 6.25 B.6.5 ,/"’ g u,l?;‘ C. 6.75 D.7
C. 6.75 D.7
84, | Average weight of 16 boys in a class is 50 kgs. |\84”| T @ # 16 ot &1 3l w0 50 fdvanm & &l
mdmtfmuf@r;mmmgsmxsﬁ kgs. Find T 8 el @ shwa o “Wﬁflmﬂ
average weight of all the boys in the class? wﬂlaﬁﬂ%ﬂﬁml o o
A, 4755kgs  B.48 kg, 4755kgs  B.48kgs, 280
_ | C.4833kps.  D.49.25kgs 4333kgs ~ D.4925kgs 6 OL
85, | If marks of five students are 55,60 ,45,53 & 57 [,85" nﬁ ufg Bl ® 3G DAL 55,8045,53, ST 57 B A
| respectively. The average marks of all the students | f\‘r;ﬁf W sl ot ;':54 | e
o . O
Bl s B. 54 C. 56 D. 55 '?‘}";_..5//
| C. 56 D. 55
‘Eél' Which one of the following is not a prime number | 86 | Fr=iatem # % @ W g WA A8 §
A. 31 B. 6] A. 31 B. 61
C.71 D. 81 Gy D81
'I'humallmﬂ-dlgltnnmbens |87 Hﬁf 1 w4 BYe| W I § _é‘_{'
A. 1000 B. 1001 A. 1000 B. 1001 g
. 9999 D. 1002 ST S— Pl
‘What is the value of 3+ 33 +333 +3.33=7 |88~ ',3+;3j3\=;+j333'i":i~.}3:33'm m’ﬂr s ‘
'C. 702.33 D. 35233 _ : g )
Tfthe number of gifis given fo a child is equa 10 87 ﬁi‘ﬁﬁ%ﬁﬂ?ﬁ“”mmm
| gﬂnumﬁuofdmmmifmmsl gifts were | bl f il

— ikl | lah i |

Page-7
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- L\!]'FP =2~ f.--__:{ 2 __,/ \1‘1 ?‘5 Lo
| given. Calculate the number of children. A1l g
A | B. 10 C. 8 D.9
| . C. B D9 - 3 Wqﬂ%}'ﬁ'“-
90. | If & bus travels 300 Kms in 6 Hrs. What is the vl Egﬂﬁﬂ‘-ﬁ%;g Uﬁ’r‘?‘:"ﬁﬁ:’ﬂﬁ PO
- speed of the bus in Kilometers per hour. BT B. 55
A. 50 B. 55 e 50 60
| | c.45 D. 60 A" C.45 e T
! 91 | From the alternatives given below which 9] | A fag v faweat A Ta:gum e ¥ &
| alternative does not belong to the group A. R B3 : "
| A. forehand B. backhand C. vt D. S
| C. service D, shuttle
92. | Which word does not belong with the others? 92 | Pt e AR R
A. English B. Hindi A 3] B.
| C. Sanskrit D. Biology C #eg D. Fﬁf”-ﬁ"ﬂ : -
93. | Ram is 5 years older to Shyam whose age is | 93 | ¥ ¥ #s5w “T“_f i fﬁgﬁ'ﬁd ﬁ
double the age of Ghanshyam. If sum of ages of arpt &1 W, m R
Ram,Shyam and Ghanshyam is 45 years, Find the AT Sl N D o I b
age of Ram 9 & Ej; D. 21
A. 24 B.18 ‘ )
C. 16 D. 21 'J"L HEst —
94. | Rajesh moves 50 meters in the front and 50 \,94 waa S50 frex | #) AR Twww 8 ai'r W
meters fowards right, then every time turning e T S e § | AT B AN TR S
towards left he moves 50, 50 & 50 meters. How 4% HAW 60, 60 afty s0 WY wo & | 3F aw
far is he from his initial point s v @ et g8 o &
A. 25 meters B. 50 meters A. 25 AR B, soiey
C. 35 meters D. 55 meters C. 35 #ex D. 8 e s
95. | If average weight of 10 students is 30 Kg . If the | 95 | 7% 10 [A=yierdy @ e dor 30 {1 § i
weight of the teacher is added, the §veragd weight s @1 v A Iw # fren foa "“? X
of the class increases by 2 Kgs| What is the w1 altv awt 2 fmr wg | =
weight of the teacher ' Rreren & _ 8&9
A. 60 kg B.52kg . }—n A.60kg B.52kg |\l
C.70 kg D. 54 kg | Gat0ke D.54 ke
6. | Which word from the altematives given EETEW\ 7 | PR PR TR P Homs e
will take the place of *?° S TGIR R ¢ AR 2
Architect : Building :: Sculptor : ? ﬂ/\/ A FueEy B
A. Museum  B. Statue T CoH D
C. Chisel D. Stone 2%
97. | Fan is related to wings in the same way as wheel (97 | 9 o6 4@ ¥ 7@ Wdfw & <9 5N qied @
is related to. wufa §
A. Round B. Air =Tz A e B. g
C. Spokes D. Car E | Coahfent D. ¥
98, | Find the odd word from the given alternatives: OF | Fefeiea A W w1 feed g3 @ fr 8
A. Vapour ‘B. Mist Aam B.gw
C. Hailstorm ___ D. Fog C s D25
99. | IfPALE is written as 2134. EARTH is written as |99 | af PALE = 2134 forar or wwm &1 EAR]
;1590. How will PEARL be written in that code :;ngmmm wam # | & PEARL ot o
A, 25430 B. 29530 A. 25430 B. 29530
C, 25413 D. 24153 C. 25413 D. 24153
100.| If “Eraser” is called box. “Box” is called pencil, | 100 | 778 “<ag" Y —
“Penci” s called Sharpener, “Sharpener” is called | | 1% "M w0 wrs e e A
bag. What will a child write with w1 ST B, W ww Ao P weq @ W R
A. Eraser ‘B. Bag AXTg Bésr R
C. Pencil ‘D. Sharpener C.ifva D. e
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